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Reindeer Games: A look at Population Growth                   NAME____________________
Background Information:  In 1911, 25 reindeer - 4 males and 21 females - were introduced onto St. Paul Island, one of the Pribilof Islands in the Bering Sea near Alaska.  St. Paul Island is approximately 106 km in size (41 square miles), and is more than 323 km (200 miles) from the mainland.  On St. Paul Island there were no predators of the reindeer, and no hunting of the reindeer was allowed.  
Directions:  The graph below illustrates the change in the population of deer on St. Paul Island.  Use it to answer the following questions.  Show your work for all calculations.
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1. a)  What was the size of the population at the beginning of the study?       a)____________ 










in 1920?    b) ___________

c) What was the difference in the number of reindeer between 1911 and 1920?__________ 

d) What was the average annual increase in the number of reindeer between 1911 and 1920? Use this formula: (average annual growth = ending population – starting population)





 
      
     amount of time










___________
e) What was the average annual increase in the number of reindeer between 1920 and 1930?










___________ 

4.  What was the average annual increase in the number of reindeer between 1930 and 1938?











___________ 

5.  During which of the three periods (1911-1920, 1920-1930, or 1930-1938) 
was the increase in the population of reindeer greatest?


___________ 

6. a) What was the greatest number of reindeer found on St. Paul Island 
    between 1910 and 1950?






___________
    b)  In what year did this occur?





___________ 

7. In 1950, only eight reindeer were still alive.  What is the average annual 
     decrease in the number of reindeer between 1938 and 1950? (Use the same formula as in   #1d.)









____________ 
Analysis:  Answer the following in complete sentences.
1. Could emigration or immigration have played a major role in determining the size of the  reindeer population?  Explain. 
2. What might account for the tremendous increase in the population of reindeer between 1930 and  1938, as compared with the rate of growth during the first years the reindeer were on the island?
3. What effect might 2000 reindeer have on the island and its vegetation? 
4. Consider all the factors an organism requires to live.  What might have happened on the island to cause the change in population size between 1938 and 1950? 
5. If some of the 8 reindeer that were still alive in 1950 were males and some females, what do you predict would happen to the population in the next few years?  Why? 
6. a)  What is carrying capacity? 
b) What evidence is there that the carrying capacity for reindeer on this island was exceeded? 
7. a)  What does this study tell you about unchecked population growth?  

b) What difference might hunters or predators have made? 

